A £ 0l & AF & S

Al A

2023 =& 2 3 U3 &A
A= MXEES 2A ¢ AXIHE
M RYHY AU (LB S S SHE/ABIEHA)

ol dAXRHEEHAS (SH9 H2)
A 2A - B . HA(SH) - HIRAIY - BES Ofl &kl I & A Hlns
XX#H™= 288,548,549 293,049,056 ~4,500,507

= 1,654,304 1,654,304 0
z 166,5% 166,596 0
[= 286,727,649 291,228,156 A4,500,507
XIS 0t 17,070,313 17,023,565 46,748
=2 321,944 321,944 0
(= 16,748,369 16,701,621 46,748
R M AU U D BHE /UBIHE ) 4,655,524 4,659,565 A4,041
= 321,944 321,944 0
[ 4,333,580 4,337,621 A4,041
HETIR AHASH 3,954,136 3,958,177 N4,041
AgtERate| 708,170 706,170 0
308 XIXISHHISOIE 140,000 140,000 0
01 RRSHBAEERS 140,000 140,000 0
OS2 MM (&) 0 40,000 240,000
O9EsI i Sg A 23N 40,000 0 40,000
B2CHH 22 531,857 529,857 2,000
202 04| 10,000 8,000 2,000
01 204t 7,000 5,000 2,000
O2LE22 X404 & 7,000,000 7,000 5,000 2,000
JIE22el 830,559 836,600 16,041
405 THHEISHI 97,359 103,400 16,041
01 AL SEFSH| 91,959 98,000 16,041

(DI S22/ Al A S SAZTH| W
AF 91,959,000 91,959 98,000 16,041
DSARD | RESSHLSSHE/NLSS - HEXIH) 502,250 452,250 50,000
DEARD|IRH2Y 502,250 452,250 50,000
DEARDD IR RHI2g 22 502,250 452,250 50,000
201 LEt29Y| 493,250 443,250 50,000
03 SAI2HYI 50,000 0 50,000
O A2 DEAREIIS &0} 50,000 0 50,000
N SAAHI (XX ) (JIEHIIE) 11,647,756 11,647,756 0
Ol 2HH| 10,966,136 11,026,136 60,000
olE 2| 10,966,136 11,026,136 60,000
101 Q1AH| 8,580,087 8,640,087 60,000
02 JIEIE 24 596,079 656,079 60,000
Oz 59,079 656,079 60,000
ooRt2e+4 AE 59,697,0002 59,697 119,697 60,000
Jl2zhl 681,620 621,620 60,000
Jl2zyl 681,620 621,620 60,000
201 LBH29Y| 261,360 201,360 60,000
01 Al22t2|H| 256,360 196,360 60,000
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H & 0l & AHS B Ml A

A= AXHE= SA 0 MOISS ALY
. IN2sLa|erd(detssdd/dedy)
el MitsEsggdet (Gt H2)
A= - 24 - 3 - GRA(3AH) - HRAE - BES Ofl &F2H I3 A Hwusz
MOtS S AL 57,316,202 57,518,347 A202,145
= 1,214,860 1,214,860 0
LS 56,101,342 56,303,487 A202,145
SRS UL (LS SHTY/LHE) 56,393,477 56,596,244 A202,767
= 865,324 865,324 0
= 55,528, 153 55,730,920 N202,767
Mite2ssgdet 5,025,793 5,234,160 A208,367
MOt 2243t 666,000 736,000 AT70,000
308 XXM SOl 666,000 736,000 AT70,000
01 IXHMBdE2x= 666,000 736,000 AT70,000
CIMOr=etZ &l
& 132,000,000 132,000 202,000 A70,000
NOI=2SHIOtsE 243t 1,970,633 2,109,000 138,367
307 2IZtoI& 1,761,633 1,900,000 138,367
05 QIteIE 3 1,761,633 1,900,000 138,367
CMOIE2SHIDIS A Z 22 E9
33 1,761,633,000 1,761,633 1,900,000 138,367
ANESAEeIeEd 3,079,284 3,073,684 5,600
= 865,324 865,324 0
= 2,213,960 2,208,360 5,600
N SARI =S X2 1,506,238 1,500,638 5,600
307 2IZtol & 1,480,238 1,474,638 5,600
03 QIIHNE I ZHHIZx 828,238 822,638 5,600
O-SEAESAHIH 2SI
48 828,238,000 828,233 822,638 5,600
MPES(MOISSAL) (SRS SHE /AL T) 622 0 622
2AXE 622 0 622
INEXSEES 622 0 622
802 gtet=0Et 622 0 622
01 =NEXSEHES 622 0 622
O AP ZHIXIH 372 0 372
(120225 XH S AHAIEI 2 CIUIOIE XI & (01 A}) 219 0 219
(12019 XHA S AHAIEI 2 CIUIOI & XI & (01 A}) 31 0 31




H & 0l & AHS B Ml A

= S BBAAD
Hu: HAERESUL(LUDTHT/ LB - HIXL)

= - 24 - ZH - HA(ZAH) - HRAY - BES Off &4 & A BlunsZ
SSAE 17,423,372 16,567,372 856,000
AL 2| (Le e - B XIH) 10,488,986 9,504,986 894,000
A2 10,488,986 9,594,986 894,000
SHEI=E 2 363,800 469,800 106,000
401 AIEHIZL SR OHYI 104,000 210,000 106,000
01 AlZHI 104,000 210,000 106,000

SE2 AL MR LIS A
&3 104,000,000 104,000 210,000 106,000
EAAIE2te 9,965,557 8,965,557 1,000,000
201 L2 6,472,204 5,752,204 720,000
02 S22l 5,905,660 5,185,660 720,000
U323 3,133,000 2,413,000 720,000
OrSPIEei=; &3 2,760,000,000& 2,760,000 2,040,000 720,000
401 AIEHIZL R OHYI 1,750,000 1,470,000 280,000
01 AlZHI 1,730,000 1,450,000 280,000
LIet=8 T 280,000 0 280,000
S2EENEUEANEE(FELTANL/NALEAL) 6,399,200 6,437,200 /38,000
YSMEAZH 6,399,200 6,437,200 /38,000
OS24 A E RS 492,000 530,000 /38,000
201 L= 272,000 310,000 /38,000
02 S3=gHl 262,000 300,000 A38,000
CIAIE EHI= Xl 262,000 300,000 A38,000
Odd=s=N2cEY

d& 262,000,000 262,000 300,000 /38,000




